8811 West Market Street
Colfax, NC 27235

Glazed Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

PRODUTG CTS, I NC.

112.94" MAX, OVERALL

FRAME WIDTH

The Glazed Steel Door system described herein complies with the 2004
International Residential Code (IRC), Sections R301 & R4613 and the 2006
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and
2404 {including Texas revisions) subject 1o the following conditions:

1. Anchors shall be s listed and spaced as shown in the details. Anchor
embedment to base material shalt be beyond wall dressing or stucco.

81.94" MAX. OVERALL

FRAME HEIGHT {INSWING)

81.125" MAX. OVERALL
FRAME HEIGHT {OUTSWING)

. When used in areas requiring wind-borne debris protection this product is
required 1o be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the 1BC.

. Allowable design pressure requirements must be equal fo or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# DESCRIPTION
1 Typical efevations, design pressures & general notes
Door panel details (ip lite insert glazing])
Slidelte panel details {lip lite insert glazing)
Horizontal cross sections
Vertical cross sections
Yertical cross sections
Frame anchoring

N O~ [N

tyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Vgirico FlL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Docurments Prepared By

ENDURA
TYPICAL ELEVATION, DESIGN

PART OR ASSEMBLY:
PRESSURES & GENERAL NOTES

PRODUCT:

FS
BY

(o) (o

INSWING

+35.0

-40.0

1/06/14 {ADDED ARTICULATING SILL

1

NOJ DATE

oaTE: 8/08/12

SCALE:  N.T.S.

OUTSWING

+40.0

-40.0

DWG, BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4210

sueer 1 oF 7

RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4208-11.dwg, TX-4210

REVISIONS




RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4208-11.dwg, 2.3

-—1.75" i

NE

—

HINGE STILE

(WOOD)

36" MAX.
PANEL WIDTH

21.0" MAX
D.L.O. WIDTH

i

79.25" MAX. DOOR

PANEL HEIGHT
63.0" MAX
D.L.O. HEIGHT

THERMA-TRU
Insert glazed
{steel]

NSl

m HORIZONTAL CROSS SECTION

INTERIOR

il

EXTERIOR

&/

#6 X 1-1/2" PH SMS

INTERIOR T

IL

EXTERIOR

LOW TACK SEALANT

2.8

124" fe-—

Y

Z]?‘ LONG

LOCK BLOCK
(WOOD)

GLASS BRE 7/14"

I

T

1/2" NOMINAL GLASS THK.

1/8" TEMPERED GLASS
é AR SPACE

1/8" TEMPERED GLASS

STEEE SPACER

Q'SO SEALANT

GLAZING DETAIL

Lip Lite Insert Glazing

LOCK STILE
[WOOD)

TOP RAIL
(COMP.)

0.94

;

25T el
LT ol
RN WS

FOAM CORE |
(POLYURETHAﬁ '

INTERIOR EXTERIOR

24 Ga. STEEL SKIN \ T

0.94"

BOTIOM RAIL
{COMP.)

7 2"\ VERTICAL CROSS SECTION

\2/

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Vairico FL. 33585
Phone No.: 813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documants Preparsd By

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
PART OR ASSEMBLY:

PRODUCT:

SIDELITE PANEL DETAILS
(FLUSH GLAZING)

LFS
BY

1/06/14 [ADDED ARTICULATING SILL

!

NOI DATE

REVISIONS

DATE: 8/08/12

scalE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX--4210

SHEET 2 oF 7

© 212 R.W. BUILDING DONSULTANTS INC,



R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4208-11.dwg, 3.3

= 1.75" —==|

SNE

—

STILE
(WOOD)

36" MAX.

PANEL WIDTH

21.0" MAX

D.L.O. WIDTH

79.25" MAX. DOOR

—r

INTERIOR

—— 124" |

ey

L\

7

L=V A LY

EXTERIOR

|

STILE
(WOOD)

/" 2"\ HORIZONTAL CROSS SECTION

PANEL HEIGHT
63.0" MAX
D.L.O. HEGHT
4

THERMA-TRU
Insert glozed
(steel)

#6 X 1-1/2" PH SMS

INTERIOR

Ia

GLASS BITE 7/16"
3 —-———1/2" NOMINAL GLASS THK.
/~¥/8 TEMPERED GLASS

AIR SPACE
=<

‘ \ 1/8" TEMPERED GLASS
STEEL SPACER

Q'SO SEALANT

Wt HTEEH T L

EXTERIOR
LOW TACK SEALANT

GLAZING DETAIL
Lip Lite Insert Glazing

G1

TOP RAIL
(COMP.)

FOAM CORE
{POLYURETHAE:EE)\

INTERIOR

24 Ga, STEEL SKIN ——\E _

BOTTOM RAIL
{COMP.)

0.94"

EXTERIOR

0.94"

/"2 VERTICAL CROSS SECTION

3/

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 335985
B13.659.89187

BUILDING CONSULTANTS, INC,

Documents Prepared By

Phonea No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION § F—11852

ENDURA
PART CR ASSEMBLY:

PRODUCT:

SIDELITE PANEL DETAILS
(LIP LITE INSERT GLAZING)

LFS

1/06/14 |[ADDED ARTICULATING SILL

1

NOJ DATE

REVISIONS

oare: 8/08/12

ScaLE:  N.T.S.

DWG. BY: JK

CHK, BY: LFS

DRAWING NO.:
TX-4210

SHEET 3 oF 7

© 2012 R.W, BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4208-11.dwg, 4.3

0.75" > e 15" ]
l
&
.
% in
3 s| N <
, %\\
i /
—=| 125" = e
JAMB / HEAD FATBOY MULLION
PINE PINE
NOTE;

1. Spacing for sidelite screws: 6.5", 38.5"
and 69" from head tosill {3 total}.

SIDELITE PANEL /— EXT. SHEATHING

EXTERIOR _\

e F v

a/
2X FRAMING
/P L (G>=042)
\_/ #8 X 2.5 COURSE THREAD J J
DRYWALL SCREW
{See Note 1) /
t DEADBOLT: KWIKSET SIGNATURE SERIES
(780/583) INTERIOR \
[~ LATCH: KWIKSET SIGNATURE SERIES
(991) JAMB \_ DRYWALL
#10X2.5"PFH
HA4" MAX. WOOD SCREW
SHIM SPACE
4 CORNER PADS {TYP.)
/ 1"\ HORIZONTAL CROSS SECTION
E 3 ; \f/ Outswing shown - Inswing also approved
LATCH STRIKE PLATE

DOOR PANEL

#8 X 2-1/2" PFH WS
/— /

#8 X 3/4" PFH SMS 4" HINGE
#8 X 2.5" PFH WOOD SCREW 48X 1" PEH SMS
SIDELITE PANEL —\
—

ENDURA WEATHERSTRIP J=F
[QEBD 650] 1.7 d

#8 X 2.5 COURSE THREAD |7
DRYWALL SCREW —— /
{See Note 1)
4-3/8" FATROY PINE MULLION A/

m HORIZONTAL CROSS SECTION
\y Outswing shown - Inswing also approved

\\\
W
W\

\ SIDELITE PANEL

#8 X 2.5" COURSE THREAD _/
DRYWALL SCREW
{See Note 1)

4-3/8" FATBOY PINE MULLION —/

m HORIZONTAL CROSS SECTION
\U Qutswing shown - Inswing also approved

DOOR PANEL

Lyndon F. Schmidf, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9187

BUILDING CONSULTANTS, INC.

Phone No.:

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By:

[%2]

=

o ,_18

<X 8 f—EQ

= A on

2 3@ N,

O o3 Fo

i IO

4] o

< (&
= o

(3]

= Q
2 g
a o

o>

Ylm

1/06/14 JADDED ARTICULATING SILL

NO.| DATE

1

REVISIONS

oate: 8/08/12

scalE:  N.T.S.

DWG. BY: JK

CHX. BY: LFS

DRAWING NO.:

T™X-4210

SHEET 4 ofF 7

© 2012 R.W. BUILDING CONSULTANTS INC,



R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\ RWBC Drawings\TX-4208-11.dwg, 5.3

|

EXT. SHEATHING -\ ,

1/4" MAX.

SHIMSPACE . [tLilf

2X FRAMING

(G >=0.42)
[~

/ DRYWALL

L— #10 X 2.5" PFH
WOOD SCREW

0.15
CSINK
{TYP.)

DOOR PANEL ——\\

\— HEAD

A

ENDURA WEATHERSTRIP

W

EXTERIOR INTERIOR

/1 \ VERTICAL CROSS SECTION

{QEBD/PE 650)

\f’/ Outswing shown - inswing

F

Wi % i,

£ A LR e
REREE W

also approved
INTERIOR DOOR PANEL EXTERIOR EXTERIOR // INTERIOR EXTERIOR // INTERIOR
ENDURA WEATHERSTRIP -—\\\\
[QEBD/PE 450) DOOR PANEL DOOR PANEL
ENDURA THRESHOLD ENDURA DOOR SWEEP \ ENDURA DOOR SWEEP
(Z-SERIES OUTSWING} {DBK-R) [DBK-AC)
Z0OB4565FN {shown) ENDURA THRESHOLD ENDURA THRESHOLD ] '
(Z-SERIES INSWING ADJUSTABLE) (Z-SERIES INSWING ARTICULATING) RS '
_ ZAI4565FN (shown) TACAS65FN {shown] A

77}

MK QN

m VERTICAL CROSS SECTION

AT LT AT

3

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4"ELCO OR
T'wW CONCRETE SCREW

\

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
ITW CONCRETE SCREW

m VERTICAL CROSS SECTION

w Outswing shown

W Inswing configuration

N AN

1L

]

#10 X 2.5" PFH WOOD SCREW

1/4"X 2-3/4" ELCC OR
ITW CONCRETE SCREW

/"4 \ VERTICAL CROSS SECTION
W Inswing configuration

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123
B813.659.9167

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.C. Box 230 Valrico FL. 33585
CERTIFICATE OF REGISTRATION § F—11852

BUILDING CONSULTANTS, INC,

Documents Prepared By:

Phone No.:

ENDURA
VERTICAL CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

LFS
Y

1/06/14 |ADDED ARTICULATING SILL

NOJ DATE

1

REVISIONS

oate: 8/08/12

scate: N.T.S.

DWG. BY: JK

LFS

CHK. BY:

DRAWING NO.:
TX—-4210

SHEET 5 oF 7

© 2012 R.W. BUiLDING CONSULTANTS IND.



RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4208-11.dwg, 6.3

EXTERIOR INTERIOR
\\
SIDELITE PANEL —\ /(
#8 X 2.5" COURSE THREAD
DRYWALL SCREW /
[See Note 1) é
s WH=)

=g
|
i

2X FRAMING
(G >=0.42)

DRYWALL \ L

: / EXT, SHEATHING

1/4" MAX.

(MG #10x 2.5 peH
(})]  WOOD SCREW

SHMSPACE |-

\

SIDELITE PANEL \

#8 X 2.5" COURSE THREAD
DRYWALL SCREW —— |
{See Note 1)

INTERIOR

0.15"
C'SINK
[TYP.)

-

\_ HEAD

EXTERIOR

/1 "\ VERTICAL CROSS SECTION

\U Inswing shown - Qutswing also approved

ENDURA THRESHOLD W/ SIDELITE SPACER
{Z-SERIES QUTSWING) ZOB4565FN {shown)

LT 1

/"2 "\ VERTICAL CROSS SECTION

W Outswing configuration

#10 X 2.5" PFH WOOQOD SCREW

1/4" X 2-3/4"ELCO OR
ITW CONCRETE SCREW

INTERIOR

§

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
(See Note 1)

NOTE:
Spacing for sidelite screws:
4" from each end (2 total),

I.

\ EXTERIOR

/ ENDURA THRESHOLD W/ SIDELITE SPACER
V4 (Z-SERIES INSWING) ZAI4565FN {shown)

- .
N

3

S I U AN

YN

ELERLLRRARERY

LS

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4"ELCO OR
ITW CONCRETE SCREW

m VERTICAL CROSS SECTION

\é/ Inswing configuration

Lyndon F. Schrnidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33585
B813.659.8187

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:
CERTIFICATE OF REGISTRATION # F—11852

TEXAS BOARD COF PROFESSIONAL ENGINEERS

7
=
o o
o
< S IO
faly P PG Qm
=2 L Eo
2 3D X,
L SIS 3g
A S
< O
= 4
Q
2 o
o K
® <
[ (a8
Dl
Yt

REVISIONS

1/06/14 |ADDED ARTICULATING SILL

NG| DATE

1

0ATE: 8/08/12

SCALE: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4210

SHEET & oF 7

© 2012 R.W. BUILDING DONSULTANTS ING.



& 2X framing [by others) an
P i £ .N...
8 oL 23 0 g%
tyx ¢ < g 88
;g = O f et —— [+ - : ¥ Z ::
2" 3 {TYP.) “wu  dwm 87
8 (TYP ) |v wt £y G
= e ) ! 2 €45 32
T — Wit B0 ] - 38 223 88
"l K] »
SEE HINGE ~__ |- - \_ \‘ . f T gcn Bg
3]
DETAIL | BT #10 X 2.5" PFH DETAIL 1 DETAIL 1 g 5 8% gg
. WOOD SCREW N .o 3 < s Q%% .©
A (TYP. @ HEAD N eE Eo o § g% °%
5 AND JAMBS) 578 I gﬁ
- o O o gg
5, o) [T L] g [
=] \\ O 5 g E
i 3 t K B8
% ﬁ 8
SEE HINGE B ;
DETAIL 2 seeswke | = o
DETAIL o =
N I ] z
£ DETAIL 1 DETAIL 1 g |,z
B _\ [ S |z %
N1 1 UL I N v
. L ) Ll | [L'g ?(
< o
// % £ (TP 5 x w
(TP —= #10 X 2.5 PFH WOOD SCREW 3 c
2'(TYP.) —= 1/4" X 2-3/4" ELCO OR & <
FLOOR SUBSTRATE MATERIAL (TYP.) STRIKE JAMB - -
| WOOD (G >= 042 FRAME ANCHORING ‘ ) “ 5
OXO W
- ANSI DEADBOLT
STRIKE PLATE
= -]
#8 X 3" COURSE DRYWALL SCREW #10 X 3"PFH WS (4) ] % "
— &)
i 2 é
® ] I L
#8 X 2-1/2" PFH WS {2) 3 |2
0 LATCH STRIKE o ¥
\ PLATE 2
W o
CONCRETE ANCHOR NOTES: DETAIL 1 STRIKE DETAIL s

. Concrete anchor locations at the corners may be adjusted to maintain the min. Integral mullion attachment — =
edge distance fo mortar joints. hd "

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo § =
maintain the min. edge distance to mortar joinfs, additional concrete anchors s
may be required fo ensure the "MAX. ON CENTER" dimension are not exceeded. 8 X 2-1/2" PFH WS 3

. Concrete anchor table: / i > #8 X 2-1/2" PFH WS =

.................. ran T oate: 8/08/12

e MASO”RY #8X 1" PRHWS 4efo [ ; ’ ralls scaei N.T.S.

bk . e fa X 3/4 ZFH WS #8 X 1"PFH WS é:‘ i S 48 X 3/4" PEH WS P

mw ~— 4" X 4" HINGE oy g
® " -3/4" 2-1/2" 3 —— 4" X 4" HINGE CHK. BY: LFS
TAPCON® | 174 1-3/4 / AN \ BRAWNG RO
ELCO " TX—-4210
®  1/4" 1.3/4" 1" 3
ULTRACON / HINGE DETAIL 1 HINGE DETAIL 2 e 7 o 7.

RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4208-11.dwg, 7.3

@ 2012 R.W. BuiLpING CONSULTANTS INC.



